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                sd(Residual)     71.07093   3.476193       64.5741     78.2214

                                                                              

  Random-effects Parameters      Estimate   Std. Err.     [95% Conf. Interval]

                                                                              

                                                                              

       _cons     192.9442   20.05642     9.62   0.000     153.6343     232.254

      Giorno    -34.64354   1.554601   -22.28   0.000     -37.6905   -31.59658

Impact1trad0     143.3939   19.69161     7.28   0.000     104.7991    181.9888

    Paziente    -3.483254   1.795098    -1.94   0.052    -7.001581    .0350741

                                                                              

  Voldrenato        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -1187.6669                     Prob > chi2        =    0.0000

                                                Wald chi2(3)       =    625.87

Mixed-effects ML regression                     Number of obs      =       209

. xtmixed Voldrenato Paziente Impact1trad0 Giorno
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. 

                                                                              

                Residual      180

                  Giorno       10    84.16   0.0000   0.0000   0.0000   0.0000

                                                                              

                  Source       df      F    Regular    H-F      G-G      Box

                                                         Prob > F             

                                          Box's conservative epsilon =  0.1000

                                          Greenhouse-Geisser epsilon =  0.2791

                                          Huynh-Feldt epsilon        =  0.3591

Repeated variable: Giorno

     Lowest b.s.e. variable:  Paziente

                     Levels:  19        (17 df)

Between-subjects error term:  Paziente

                   Total    4217011.24   208  20274.0925   

                                                                              

                Residual    605592.105   180  3364.40058   

                          

                Paziente    146013.636    17  8589.03743       2.55     0.0011

                  Giorno    2831453.35    10  283145.335      84.16     0.0000

             Impact1tr~0    64910.2273     1  64910.2273      19.29     0.0000

                          

                   Model    3611419.14    28  128979.255      38.34     0.0000

                                                                              

                  Source    Partial SS    df       MS           F     Prob > F

                           Root MSE      = 58.0035     Adj R-squared =  0.8341

                           Number of obs =     209     R-squared     =  0.8564

. anova Voldrenato Impact1trad0 Giorno Paziente, repeated(Giorno) bse(Paziente)


